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Instructions / 3ol (Physical Submission)

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).
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‘MAST’ [agl 1A U v [Qeu-l uaie 2.

1. MAST g A1t SURL 11 $aUnL 20 .

2. 2 (A8 GeuyR-l SAS AR ARAARML UM ST 20 €.

3. drll you GuUloL YL YorSlU &aril AeARA seuHL 8.

(A) HiA 1 244 2 @223

(C) A 1441 3 (D) 1,243

R uaH el [Qunass ge1er INS-[Asia’d [l 56 oot sami 2ue © ?
@32 sidli sidl4 Rruand (B) 2l s (23

(C) Na & A (Al & 2eal) [, s (D) ABG [, edo
2ilfafus A SLAHL AT vtuR YR Al Ay JlesHIA DA-IR B2 Ul 697
(A) w4+l (B) »u[R51

@2 (D) A2
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091.

092.

093.

094.

09s.

096.

097.

098.

099.

100.

a 2021 Wl ‘AlsHid [das Asdla Y817 sin vAiad 2l €9 ?

@24 yruaa (B) 2l A%+ divisaial

(€) 4l - yld (D) 4l Ss@d ALl

A ARH Yrsi-l aed S[R2% ueni AHd WHAIR 324R HE: MR-l seandl e © ?
(A) 384 e @39+ e

(C) 4030 :ude (D) 443 e

gl 2EEaa S2l@ag-u (AN yneyd axe Glell s2a1 ‘AT FOR ALLH uda su1 36y
Haad a3 s34 ?

(A) Al@rosn 214 BelldL Wy @24, R Houau 214 CBSC
(C) AU A3 25D (D) A& HouaY

ARl Hiede Y. 3l sHald 512 56 ™A A AstuAa & ?

(A) sz (B) &3l (wrestling)

(©) e @)= 2

i SRzt Slezye 2iis A3sa wurn (AIIMS)RA sl ARiHL uHIAR 6 2dls su1 s e ?
(A) Ad Arg RHu, Ad Marg Yol

@< u-q (Rioy, [Qen x4 yd

(C) duail W Aol bt [Beiu g Yrua

(D) UloL s1Y, Slaan, A [den a [Aysda

Rullde S-aiawa 2iws 332 2124 siulRaq (DICGC) [Bia 2021 Yoser 2060208 g2l ti-sa 2aPid
$AUML U dl, vl s s2dl uuu Halemi s2dl 254 Yl eigin yg wsal ?

(A) 120 [2a -l 2i€= 5,00,000/-yH) (B) 90 [2a Hl »ie2 3,00,000/-»H)

(C) 60 [2a -l »ig2 2,00,000/-yH @)oo (2 - ie2 5,00,000/-yH

5UA3-19 AH 100% 01520 Wt $UR 54 ASR s UAH ASR 61y B?

(A) YR @i

(C) touy3 (D) [Qgurnugan

MR $Y A% RS A 2020-2021 Hi S2a 251 [Agell 5191 W18 Add AlaL ad 2l U w/[ S ?
(A) HSIRN 78% WA @124 37% wd

(C) 2421 78% A (D) s2U25 37% W

AFAHL Sl HWAlHIN AL (AR And i sa Huaudl 1400 530, 54 g Haau vRdcax
2udy 97

(A) Rz Houauuid 2sMsa Riaw @ ;0 riuauniaf assR Huau
(C) 2uR1%Y Houaunidl sinlyRsa (D) &d Hanaauidl oou uasid

A AU AURA-G1dAS 2 ad), Biosy 3¢ed w3l % aru uuudl oit udd d - W4 sun e Wl
Yyl 530 Hadudlzilg, Yyt AAd a3 sl 2uda 89 ?

@100l — Rcusidl (B) 2RAHL — AR
(C) Rigreue — A1y2 (D) AlAs1yR — vllAa
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101.  With respect to financial statements of Not for Profit Organisation, which of the following
statement/s is/are Incorrect?

i) Income and Expenditure Account is similar to the Profit and loss Account and is
p
prepared exactly based on same principles

(ii) Excess of income over expenditure is called surplus and excess of expenditure over
income is called as deficit

(iii) All expenses of revenue nature for the particular period are debited to Income and
Expenditure Account on cash basis

(iv) All Capital incomes and Expenditures are excluded from Income and Expenditure

account
(A) Only (i) @onyy i)
(C) (i) and (iii) both (D) (i) and (iv) both

102.  According to Companies Act 2013, which of the following is/are not an important
factor/s for computing depreciation?

(i) Cost of the asset

(ii) NRY of the asset after one year

(iii) Estimated useful life of the asset

(iv) Residual value at the end of estimated useful life of the asset
(A) Only (i) @onyy i

(O) (i) and (iii) both (D) (i) and (iv) both

103.  Which of the following is/are not regarded as a major consideration/s governing the
selection and application of accounting policies?

(i) Prudence

(ii) Substance over Form

(iii) Materiality
(iv) Acceptance by employees
(A) Only (i) @onyy v
(O) (i) and (iii) both (D) (i) and (iv) both
104.  With respect to framework of financial statements, which of the following statement is
incorrect?

(A) Investors, lenders, government, public, employees, customers etc. are the users of
financial statements

.Going concern, accrual and matching cost with revenue are the three fundamental
accounting assumptions considered while preparing financial statements

(C) Understandability, relevance, comparability and reliability are four qualitative
characteristics of financial statements

(D) Asset, liability, equity, income and expenses are elements of financial statements
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105. Which of the following statements is CORRECT in respect of Bank Reconciliation
Statement starting with Balance as per the Passbook?

(A) The amount of cheques deposited but not cleared must be deducted
.The amount of bank charges debited by the bank must be added
(C) The amount of cheques issued but not presented added

(D) Interest collected directly by the bank must be added

106. XYZ Ltd paid X 12,000 on account of insurance premium for the period July 1, 2020 to
June 30, 2021. The adjustment entry to be passed while closing the accounts on March
31, 2021 will be:

(A) Insurance expenses Account Dr 3,000
To Outstanding Insurance expenses Account 3,000.

.Pre-paid Insurance expenses Account Dr 3,000
To Insurance expenses Account 3,000.

(C) Pre-paid Insurance expenses Account Dr 9,000
To Insurance expenses Account 9,000.

(D) Insurance expenses Account Dr 9,000
To Outstanding Insurance expenses Account 9,000.

107.  Which of the following is/are not the primary function/s of accounting?
(i) Comparison & evaluation
(ii) Window-dressing
(iii) Government regulation and taxation
(iv) Decision-making
@onyy Gi) (B) Only (iv)
(O) (i) and (iii) both (D) (i) and (iv) both

108.  Which of the following statement is incorrect with respect to contingent assets and
contingent liabilities?

(A) In financial statements, contingent liability is not recognised

(B) In the case of contingent liability, the amount expected to be paid to settle the liability
cannot be measured with sufficient reliability

(C) Contingent asset usually arises from unexpected events that give rise to possibility of
an inflow of economic benefits to a business

.Contingent assets are shown under the head of current assets in financial statements.
109.  Which of the following expense is not regarded as capital expense?

(A) Expense incurred on the overhaul of machinery purchased second hand

.Import duty paid for purchase of raw material

(C) Expense incurred for purchasing and installing a New Coffee Machine in office

(D) Purchase of Television for the use in office lounge
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110.

111.

112.

113.

114.

115.

116.

With respect to classification of various assets in balance sheet, which of the following
statement is incorrect

(A) Liquid assets are those current assets which are already in the form of cash or which
can be readily converted into cash

.Wasting assets are those current assets which have fixed content, like coal in a coal
mine; the value of the asset goes down as the contents are taken out.

(C) Fixed assets are those which are acquired for long use in the business itself
(D) Intangible assets are those fixed assets which cannot be seen or touched or felt.

means, future liability for capital expenditure in respect of which contracts
have been made.

(A) Capital employed .Capital commitment

(C) Capital reserve (D) Cost of goods sold

A is any contract that gives rise to both a financial asset of one enterprise and a
financial liability or equity shares of another enterprise

(A) Foreign currency .Financial instrument

(C) Government grant (D) Intangible asset

are the specific accounting principles and the methods of applying those
principles adopted by an enterprise in the preparation and presentation of financial
statements

.Accounting policies (B) Mercantile basis of accounting
(C) Annual reports (D) Capital commitment

Ledger is book for

.Analytical record (B) Chronological record

(C) Alphabetical record (D) None of the above

With respect to subsidiary books, which of the following statement is/are INCORRECT?
(i) Purchase or sale of assets are recorded in Journal proper

(ii) Bills accepted by customers to be honoured at an agreed date are recorded in Bills
payable book

(iii) Rectification entries are recorded in Journal proper
(iv) The purchase day book records the transactions related to credit purchase of goods

only.
@onyy Gi) (B) Only (iv)
(C) (i) and (iii) both (D) (i) and (iv) both

Which of the following statement is/are incorrect?

(i) Profit and loss account contains closing balances of real and personal account

(ii) Goodwill is an intangible asset

(iii) Expenses due but not yet paid are known as outstanding expenses

(iv) Assets appearing in the books having no real value are known as Fictitious assets
@ony i) (B) Only (iii)

(O) (i) and (iii) both (D) (i) and (iv) both
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117.  Generally Accepted Accounting Principles (GAAP) includes principles on:

(i) Recognition: It deals with the items should be recognized in the financial statements
(e.g. assets, liabilities, revenues, and expenses).

(ii) Measurement: It determines the amounts should be reported for each of the elements
included in financial statements.

(iii) Presentation: It states regarding the line items, subtotals and totals should be displayed
in the financial statements and how might items be aggregated within the financial
statements.

(iv) Disclosure: It states about the specific information that is most important to the
users of the financial statements

(A) Only (i) (B) Only (i) and (iii)
(C) Only (i), (iii) and (iv) @1 of (i), Gi), i) and (iv)

118.  Which of the following statement/s is/are regarded as qualitative characteristics of
financial statements as per IFRS conceptual framework?

(i) Financial information is capable of making a difference in decisions if it has predictive
value, confirmatory value or both.

(ii) Information about a reporting entity is more useful if it can be compared with similar
information about other entities and with similar information about the same entity
for another period or another date.

(iii) Verifiability means that different knowledgeable and independent observers could
reach consensus, although not necessarily complete agreement, that a particular
depiction is a faithful representation.

(iv) Classifying, characterising and presenting information clearly and concisely makes
it understandable.

(A) Only (i) (B) Only (i) and (iii)
(C) Only (i), (iii) and (iv) .All of (i), (ii), (iii) and (iv)

119.  With respect to Ind AS 2: Inventories, which of the following statement is/are incorrect?
(i) Inventories shall be measured at the lower of cost and net realisable value

(ii) In case of service providers, inventories include the cost of service for which the
entity has not yet recognised the revenue

(iii) Ind AS 2: Inventories, Standard applies to all inventories, except financial instruments

(iv) Ind AS 2: Inventories, Standard applies to all inventories, including biological assets
related to agricultural activity

(A) Only (ii) (B) Only (iv)
(C) (i) and (iii) both @) and (iv) both
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120.

121.

122.

123.

124.

As per section 2(40) of the Companies Act 2013, Financial statements includes which of
the following

(i) Balance sheet

(ii) Profit and loss account or income and ( wherever applicable)expenditure account
(iii) Cash flow statement

(iv) Any explanatory note or other statements

(A) Only (i) and (ii) (B) Only (i) and (iii)

(C) Only (i), (ii) and (iii) .All (i), (ii) , (iii) and (iv)

As per Table -F of schedule -I of the Companies Act-2013, interest on calls in advance
can be paid at per annum.

&2 (B) 8%
(C) 6% (D) 10%

With respect to LLPs ( Limited Liability Partnerships), which of the following statement/
s is/are incorrect?

(i) LLPs is not created by agreement but created by law

(ii) LLP has perpetual succession and individual partners may come and go

(iii) Partners are agents of the firm only and not of other partners

(iv) Numbers of partners required for LLP is minimum 4 and maximum no limit
(A) Only (i) @onyy v

(C) Only (i) and (iii) (D) Only (ii) and (iv)

In absence of Partnership deed between the partners, certain rules are applicable as per
Indian Partnership Act 1932. Which of the following is/are incorrect?

(i) Profit and loss will be shared in proportion to their capital ratio

(ii) No partner has the right to a salary

(iii) No interest is to be allowed on capital

(iv) No interest is to be charged on the drawings

@ony i) (B) Only (iv)

(C) Only (i) and (iii) (D) Only (ii) and (iv)

With respect to partnership accounts, which of the following statement/s is/are correct?
(i) Realization account is opened at the time of admission of a new partner
(ii) Realization account is a nominal account

(iii) Realization account is opened at the time of retirement of a partner
(iv) Realization account is a real account

(A) Only (i) @onyy i

(C) Only (i) and (iii) (D) Only (ii) and (iv)
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125. If any of the assets is taken over by a partner at a value mutually agreed to by the
partners,

.Debit partner’s capital account and credit realisation account with the price of asset
taken over

(B) Debit cash account and credit realisation account with the price of asset taken over
(C) Debit partner’s capital account and credit cash account

(D) Debit realisation account with the price of asset taken over and credit partner’s
capital account

126.  Every limited liability partnership shall have at least partners
@ rvo (B) Three
(C) Four (D) Five

127.  With respect to partnership accounts, which of the following statement/s is/are incorrect?

(i) In fixed capital method, generally initial capital contributions by the partners are
credited to partner’s fixed capital account

(ii) In fluctuating capital method, current account is maintained

(iii) A partner is not entitled to interest on his capital as a matter of right.
(iv) In absence of partnership deed, profit should be distributed equally
(A) Only (i) @onyy i

(C) Only (i) and (iii) (D) Only (ii) and (iv)

128. In the absence of a partnership agreement, all partners are entitled to

(i) Bonus (ii) Salary (iii) Commission (iv) Interest on loan and advances
(A) Only (i) @onyy iv)
(C) Only (i) and (iii) (D) Only (ii) and (iv)

129. A, B and C had capitals of ¥ 1,00,000; ¥ 80,000 and I 60,000 respectively for carrying on
business in partnership. The firm’s reported profit is ¥ 61,200. As per provisions of the
Indian Partnership Act, 1932, find out the share of each partner in the above amount
after taking into account that no interest has been provided on an advance by A of !
20,000, in addition to his capital contribution

.? 20,000 each for Partner B and C & ¥ 21,200 for Partner A

(B) ¥ 25,000 for Partner A, ¥ 20,000 for Partner B and X 15,000 for Partner C
(C) X 26,200 for Partner A, X 20,000 for Partner B and ¥ 15,000 for Partner C
(D) ¥ 20,400 each for Partner A, B and C

AXJ - MASTER | 16 [Contd.


GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight


130.  Which of the following statement/s is/are incorrect?

(i) When the new partner brings an amount as premium for goodwill such amount will
be shared by the old partners in New ratio

(ii) If the new partner fails to bring the necessary premium for goodwill his capital
account is debited by such amount and credited to the old partners’ capital account

(iii) Para 16 of AS 10 specifies that goodwill can be recorded in the books only when
some consideration in money or money’s worth has been paid for it.

(iv) Sacrificing ratio is the difference between the old ratio and new ratio
@ony i) (B) Only (iv)
(C) Only (i) and (iii) (D) Only (ii) and (iv)

131.  Which of the following statement is correct?

.In case of retirement, any undistributed profit or loss including reserve is to be
transferred in old profit-sharing ratio

(B) In case of retirement, any undistributed profit or loss including reserve is to be
transferred in sacrificing ratio

(C) In case of retirement, any undistributed profit or loss including reserve is to be
transferred in new profit-sharing ratio

(D) In case of retirement, any undistributed profit or loss including reserve is to be
transferred always in equal ratio

132.  With respect to dissolution of partnership firm, which of the following statement is
incorrect?

(A) Dissolution of the firm implies that the entire firm cases to exist, including the relation
among partners

In event of dissolution of partnership firm, the business continues as usual, but the
partnership is reconstituted

(C) Court has the inherent power to intervene. By its order, a firm can be dissolved

(D) Assets are sold and realised, Liabilities are paid off, Realisation account is prepared
and books of accounts are closed

133. In which of the following situation, reconstitution of partnership firm does not take
place?
(A) Admission of a new partner .Death of a partner’s relative
(C) Change in the profit-sharing ratio (D) Retirement of a partner

134.  Following details are provided by the partners

Particulars A B C
Capital 315,000 18,000 <%9,000
Profit-sharing Ratio 2 2 1

If X 4,500 cash is available at the time of dissolution and Highest relative capital method
is used for piecemeal distribution, which of the following statement is correct?

.B will be paid ¥ 3,000 and C will be paid ¥ 1,500

(B) Only A will be paid % 4,500.

(C) A will be paid X 2,250 and B will be paid ¥ 2,250

(D) A will be paid ¥ 1,800 , B will be paid ¥ 1,800 and C will be paid T 900.
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135. With respect to Limited Liability Partnership ( LLP) , which of the following statement/
s is/are correct?

(i) LLP is compulsorily required to be registered with ROC
(ii) LLP has a perpetual succession and individual partners may come and go
(iii) In LLP, partners are agents of the firm only and not of other partners

(iv) For LLP, minimum number of partners required are 2, but there is no limit for
maximum number of partners.

(A) Only (i) and (ii ) (B) Only (i) and (iii)
(C) Only (i), (ii) and (iii) .All (i), (ii) , (iii) and (iv)

136. Records under Single entry system can be maintained in 3 types:- Pure single entry,
Simple single entry and Quasi single entry.

With respect to the above which of the following statement/s is/are incorrect?
(i) In Pure single entry method only personal accounts are maintained
(ii) In Simple single entry method, personal accounts and cash book both are maintained

(iii) In Quasi single entry method, personal accounts, cash book and some subsidiary
books are maintained

(iv) Pure single entry method is generally adopted as a substitute for double entry system
(A) Only (i) (B) Only (iii)
.Only (iv) (D) Only (i) and (ii)

137.  Which of the following is not a special feature of hire purchase transaction?

(A) Possession of goods is transferred to hire purchaser immediately after the contract
for hire purchase is made

(B) The amount will be paid by hire purchaser in a periodical installments

.The ownership property in goods is pass to hire purchaser on the payment of first
installment

(D) Each installment consists of interest and capital payment portion

138.  With respect to Accounting for Investments, which of the following statement/s is/are
incorrect?

(i) Investment Accounting is done as per Accounting standard-13.

(ii) There are two type of investment, Current investment and Long term investment
(iii) Current investments are valued at Higher of Cost or Fair value

(iv) Long term investment are valued at Cost less ‘other than temporary’ decline

(A) Only (i) @oniy i)

(C) Only (iv) (D) Only (i) and (ii)
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139.

140.

141.

142.

From the following information, calculate the amount of claim for loss of stock
* Stock on the date of fire ¥ 20,000.

* Salvaged Stock ¥ 4,000.

* Insurance policy was for R ¥ 12,000 and claim was subject to average clause

(A) (4,000/16,000) x 20000 = 5000 (B) (16,000/4,000) x 12,000 = 48,000.
(C) (12,000/4,000) x 20,000 = 60,000 (12,000 /20,000) x 16,000 = 9,600.

What journal entry is passed in the books of Hire Purchaser in case On Interest due on
unpaid balance?

(A) Asset a/c Dr.
To Profit & Loss a/c
.Interest a/c Dr.
To Hire Vendor’s a/c
(C) Hire Vendor’s a/c Dr.
To Bank a/c
(D) Interest a/c Dr.
To Profit & Loss a/c

In case of accounting in relation to Independent Branch, what journal entry will be
recorded in the books of branch when branch expenses are paid by Head Office

.Expenses a/c Dr.

To Head Office a/c
(B) Expenses a/c Dr.

To Cash a/c
(C) Branch a/c Dr.

To Head Office a/c
(D) Expenses a/c Dr.

To P&L a/c

With respect to normal and abnormal loss in consignment business, which of the following
statement/s is/are incorrect?

(i) Normal loss occurs due to inherent nature of the goods

(ii) Abnormal loss occurs mainly due to unforeseen events like accident etc.
(iii) Abnormal loss is accounted for immediately in profit and loss account
(iv) Insurance is generally available for normal losses

(A) Only (i) (B) Only (iii)

.Only (iv) (D) Only (i) and (ii)
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143.

144.

145.

146.

147.

Common expenses, the benefit of which is shared by all departments are distributed
among the departments concerned on some equitable basis. Which of the following
allocation is incorrect?

(A) Repairs and maintenance on the basis of floor space occupied

.Sales manager salary on the basis of total purchases made by the respective
departments

(C) Wages on the basis of time devoted to each department
(D) Labour welfare expenses on the basis of number of employees in each department
With respect to foreign branch operation, which of the following statement is correct?

.Assets and liabilities of a non-integral foreign operation should be converted at closing
exchange rate

(B) Assets and liabilities of a non-integral foreign operation should be converted at
monthly average exchange rate

(C) Assets and liabilities of a non-integral foreign operation should be converted at opening
exchange rate

(D) Assets and liabilities of a non-integral foreign operation should be converted at
quarterly average exchange rate

A bill dated 1-1-2021 is payable 90 days after date. The maturity date of the bill will be

(A) 1-4-2021 (B) 2-4-2021
(C) 3-4-2021 @)+-4-2021

From the following information provided, find fresh capital introduced during the year
under single entry system.

Closing capital 34,00,000.
Opening capital %2,00,000.
Drawings % 50,000.
Net profit and loss during the year ¥ 1,00,000.
.? 1,50,000 (B) ¥ 2,50,000.
(C)X 50,000 (D)X 1,00,000.

Exchange difference arising on the translation of the financial statement of integral foreign
operation

.Should be charged to profit and loss account
(B) Should be accumulated in Capital reserve in Balance Sheet
(C) Should be accumulated in Foreign currency translation reserve in balance sheet

(D) Should be recorded as non-monetary asset in balance sheet
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148.  With respect to Joint Venture, which of the following statement is incorrect?

(A) When all the parties keep accounts, the method adopted for recording the transactions
relating to joint venture, is called Memorandum Joint venture method

(B) In Memorandum Joint Venture Method, each Co-Venturer records only those joint
venture transactions which are affected by him with the help of a personal account
designed as ‘Joint Venture with.......... (Name of the other Co-Venturer) ......
Account’.

(C) In Memorandum Joint Venture Method, Each Co-Venturer sends a periodic statement
of joint venture transactions effected by him only, to the other Co-Venturer.

.In Memorandum Joint Venture Method, the joint venture account is in fact, a part
and parcel of double entry system and hence the word ‘memorandum’ is prefixed.

149.  If the purchase price for the Debentures includes interest for the expired period the
quotation is set to be-

(A) Ex-Interest (B) Cum-Interest
(C) Sinking Interest .Carrying Interest
150.  With respect to Promissory note, which of the following statement/s is/are correct?
(i) A promissory note contains only a promise to pay certain sum of money
(ii) A promissory note is paid by maker
(iii) A promissory note is made by debtor
(iv) In a promissory note the liability of a maker is primary and absolute.
(A) Only (i) and (ii) (B) Only (i) and (iii)
(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)
151.  With relation to buy back of shares, which of the following statement/s is/are incorrect ?

(i) No company shall directly or indirectly purchase its own shares or other specified
securities through any subsidiary company including its own subsidiary companies

(ii) A company cannot buy-back its shares from any person through negotiated deals
whether on or off the stock exchange

(iii) A company can buy-back its shares from any person through spot transactions
(iv) A company cannot buy-back its shares from any person through any private

arrangements
(A) Only (ii) @onyy i)
(C) (i) and (iii) both (D) (ii) and (iv) both

152.  According to Schedule I1I of the Companies Act 2013, with respect to PART-1 BALANCE
SHEET, which of the following statement/s is/are incorrect?

i. Short term borrowings is shown as Non-current liabilities
ii. Trade payables is shown as Current liabilities

iii. Long term provision is shown as Non-current liabilities

iv. Reserve and surplus is shown as Shareholders funds
@ony i) (B) Only (iii)

(O) (i) and (iii) both (D) (ii) and (iv) both
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153.  Which of the following statement/s is/are correct?

i. When two or more existing companies are joining into one new company, it is called
Absorption

ii. In amalgamation, one existing company takes over the business of another existing
company and thus there is only one liquidation.

iii. Purchase consideration is always paid in cash by the transferee company to the
shareholders of transferor company

iv. A company into which the vendor company is merged is called vendee company
(A) Only (i) (B) Only (iv)
(C) (i) and (iii) both @) and (iv) both
154.  Which of the following statement/s is/are correct?
i. Sweat Equity shares are issued by a company to its directors or employees at a discount

ii. Part of the capital for which application have been received from public for shares
allotted to them is called Nominal capital

iii. Without passing any resolution a company can convert its fully paid shares into stock
iv. Subscribed capital is always more than the issued capital

@ony i) (B) Only (iv)
(O) (i) and (ii) both (D) (iii) and (iv) both

155.  With respect to Banking Companies Accounts, which of the following statement/s is/are
incorrect?

i. The portion of discount which relates to the period falling after the close /ending of
the accounting period is called ‘Rebate on bill discounted’

ii. The portion of discount which relates to the period falling after the close /ending of
the accounting period is called ¢ Unearned discount’

iii. The portion of discount which relates to the period falling after the close /ending of
the accounting period is called ¢ Discount outstanding to be received’

iv. The portion of discount which relates to the period falling after the close /ending of
the accounting period is called ¢ Discount received in advance’

@ oy ii) (B) Only (iv)
(O) (i) and (ii) both (D) (iii) and (iv) both

156.  With respect to Accounts of Insurance Company, which of the following statement/s is/
are correct?

i. Bonus paid at the end along with the policy amount to the policy holders is called
Reversionary Bonus

ii. In case of Insurance Company the date of discharge of claim is mentioned in the
register of claims

iii. Losses of theft are covered by Burglary insurance
iv. The Life Assurance Fund is available to meet the aggregate liability on all policies

outstanding.
(A) Only (ii) (B) Only (i) and (iv)
(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)
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157.  In Accounting of Electricity Companies, While calculating depreciation for the purpose
of Tariff as per Regulation 21, which of the following statement/s is/are incorrect?

i. Residual value of the asset shall be considered as 15 years
ii. The salvage value of the asset shall be considered as 10%
iii. Depreciation shall be allowed upto maximum of 90% of the historical cost of the asset

iv. Depreciation shall be calculated annually based on Straight line method over the
useful life of the asset as per the rate prescribed in Appendix III to these regulations

@ony i) (B) Only (ii)
(O) (i) and (iii) both (D) (ii) and (iv) both
158.  According to Schedule I1I of the Companies Act 2013, with respect to PART-1 BALANCE
SHEET, which of the following statement/s is/are incorrect?
i. Computer software is regarded as tangible assets
ii. License and franchise is regarded as intangible assets
iii. Mining rights is regarded as intangible assets
iv. Formulae and prototypes are regarded as intangible assets
@ony i) (B) Only (iii)
(O) (i) and (ii) both (D) (iii) and (iv) both
159.  Which of the following statement/s is/are not regarded as a feature of Debentures?
i. Itis a document which evidences a loan made to a company
ii. Interest is payable at a predetermined fixed rate
iii. Debenture holders are regarded as the owners of the company
iv. It can generally be bought or sold through the stock exchange
(A) Only (i) @onyy i)
(O) (i) and (ii) both (D) (iii) and (iv) both
160. XYZ Ltd.issued 6,000, 10% debentures of%Z 100 each at par but redeemable at a premium

of 5% after 5 years. Which of the following is the correct treatment for Loss on Issue of
Debenture?

.Loss on Issue of Debenture account will be debited by ¥ 30,000
(B) Loss on Issue of Debenture account will be credited by I 30,000.
(C) Loss on Issue of Debenture account will be debited by ¥ 60,000
(D) Loss on Issue of Debenture account will be credited by ¥ 60,000.
161. In relation to Reconstruction, which of the following statement is incorrect?

(A) Reconstruction is a process by which affairs of a company are reorganized by
revaluation of assets and liabilities

(B) Reconstruction account is a new account opened to transfer the sacrifice made by
shareholders for that part of capital which is not represented by lost assets

(C) Reconstruction account is utilized for writing-off fictitious assets, writing down over-
valued fixed assets, recording new liability etc.

.If some credit balance remains in the reconstruction account, the same should be
transferred to general reserve account
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162.

163.

164.

165.

166.

167.

Depending on the types of risk, there are several types of insurance policies. Which of
the following statement/s is/are incorrect ?

i. Risks of fire are covered by fire policies

ii. Marine risks of goods, vessels and freight of goods are covered by marine insurance
policies

iii. Losses of theft are covered by endowment policy

iv. Life insurance is covered under whole life policy

(A) Only (i) @onyy i)

(O) (i) and (iii) both (D) (ii) and (iv) both

In accounts of banking companies, when a debt is found to be doubtful at the end of the
accounting year, the interest accrued and doubtful should be transferred to

(A) Profit and loss account .Interest suspense account
(C) Bad debts accounts (D) Interest received account

For which of the following, Specific Act is applicable for preparation and presentation
of financial statement

.Insurance Company (B) Automobile Company

(C) Cement Company (D) Petroleum Company

Which of the following is not regarded as method of redemption of debentures?
(A) By payment in Lumpsum (B) By payment in installments

(C) By purchase in open market .By conversion into debentures

With respect to the Purchase method of accounting for amalgamation, Statutory reserves
of the transferor company should be incorporated in the balance sheet of transferee
company by way of which of the following journal entry?

.Amalgamation Adjustment Reserve A/c Dr.
To Statutory Reserves

(B) Profit & Loss A/c A/c Dr.
To Statutory Reserves

(C) Amalgamation Adjustment Reserve A/c Dr.
To Profit & Loss A/c

(D) Amalgamation Adjustment Reserve A/c Dr.
To Share Capital A/c

As per capitalisation method of goodwill valuation, what is the value of goodwill from
the following information:-

Capital employed =¥ 6,00,000.

Future maintainable profit =% 1,00,000.

Normal rate of return = 10%

(A)% 10,000 (B) % 60,000
.? 4,00,000 (D)% 6,00,000
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168.  With respect to methods of share valuation, Asset Backing Method is also called as
.Intrinsic Value Method (B) Earning Capacity Method
(C) Fair Value Method (D) Yield-basis Method

169.  With respect to Consolidation of financial statements, which of the following statement
is incorrect?

(A) Minority of the subsidiary is entitled to both capital and revenue profit of subsidiary
company

(B) In consolidation of accounts of holding and subsidiary company, mutual indebtedness
is eliminated in full

(C) In consolidated balance sheet, the share of outsiders in the net assets of the subsidiary
must be shown as minority interest

.Issue of bonus shares by the subsidiary company out of capital profit will decrease
cost of capital.

170.  Which of the following statement is correct?

(A) Dividend paid by subsidiary to its parent, out of capital profits, should be credited
by the parent company in its profit and loss account

(B) Dividend paid by subsidiary to its parent, out of capital profits, should be credited
by the parent company in its dividend account

.Dividend paid by subsidiary to its parent, out of capital profits, should be credited
by the parent company in its shares invested in subsidiary account

(D) Dividend paid by subsidiary to its parent, out of capital profits, should not be recorded.
171. Which of the following not regarded as main objective of cost accounting ?

(A) Ascertainment of cost

(B) Determination of selling price

(C) To provide relevant information for decision making

.Managing funds and treasury operations

172.  For ascertaining the actual cost of material (valuation of materials), which of the following
statement is correct?

(A) Trade discount is not deducted from the purchase price
(B) Cash discount is deducted from the purchase price.
.Quantity discount is deducted from the purchase price

(D) Any subsidy/grant/incentive received from government is not deducted from the
purchase price.

173. Employee costs are broadly classified as direct employee cost and indirect employee
cost. With respect to the said line, which of the following statement is correct?

(A) Indirect employee cost can be easily identified and allocated to cost unit
(B) Direct employee cost is apportioned on some appropriate basis

(C) Direct employee cost are cost incurred to be paid to employee who are not directly
employed in the manufacturing process

.Indirect employee cost may not vary with the volume of production
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174.  Which of the following is/are normally classified as Direct Material?

(i) Stores used in maintenance of machinery, buildings, etc., like lubricants, cotton
waste, bricks and cements

(ii) Primary packing materials like cartons, wrappings, card-board boxes, etc.

(iii) Stores used by the service departments, i.e., non-productive departments like Power
House, Boiler House and Canteen, etc

(iv) Materials which cannot be allocated but which can be apportioned to or absorbed
by cost centres or cost units

(A) Only (i) @onyy G
(C) (i) and (ii) both (D) (i) and (iii) both

175.  With respect to apportionment of overheads over each department , which of the following
statement is incorrect?

(A) Rent of building is apportioned on the bases of Floor area occupied.
(B) Labour welfare expenses are apportioned on the bases of Number of workers
.Material handling expenses are apportioned on the basis of Direct Wages.

(D) Electric power expenses relating to a machine operation is apportioned on the basis
of Horse power of machines

176.  With respect to Non-Integrated Accounting system, which of the following statement is
incorrect?

(A) Under Non-Integrated Accounting system, separate ledgers are maintained for cost
and financial accounts.

.Under Non-Integrated Accounting system, expenses like interest and bad debts are
recorded and included.

(C) Non-Integrated Accounting system is also called cost ledger accounting system

(D) Non-Integrated Accounting system contain fewer accounts when compared with
financial accounting

177.  With respect to operating costing, which of the following statement is incorrect
i. The cost unit of goods transport is called Ton-Kilometer
ii. The cost unit of passenger transport is called Passenger-Kilometer
iii. License fees will be regarded as standing charges
iv. Garage Rent will be regarded as running cost
(A) Only (i) @onyy v
(O) (i) and (iii) both (D) (ii) and (iv) both

178.  Direct material consumed for Job No. X22 is ¥ 6 lakh, direct labour is I 4 lakh, factory
overheads amount to X 5 lakh and office and administrative expenses are ¥ 3 lakh. The
prime cost for the Job No. X22 is:

(A) % 6 lakh @< 10 1an
(€)X 15 lakh (D) % 18 lakh
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179.

180.

181.

182.

183.

ABC Ltd is able to manufacture a spare part Q with the following per unit costs: Direct
Material ¥ 2.25, Direct Labour X 1.65, Variable Overheads ¥ 0.60 and Depreciation and
Other allocated Fixed Costs I 1.25. ABC Ltd has the spare capacity to make spare part
Q. In which of the following situations will it prefer to buy the part from the market?

.Market price is ¥ 4.25 per unit (B) Market price is ¥ 4.75 per unit
(C) Market price is ¥ 5.75 per unit (D) Market price is ¥ 6.65 per unit

Selling price of product Q is ¥ 100 with a Profit Volume (P/V) ratio of 20%. Annual
production is 30,000 units and fixed costs are I 3,50,000. Profit for the year will be:

(A) % 1,50,000 @ 2.50,000.
(©)X 3,50,000 (D) X 4,50,000.
With respect to Job Costing, which of the following statement/s is/are incorrect?

i. Job Costing is comparatively more expensive as more clerical work is involved in
identifying each element of cost with specific departments and jobs

ii. Spoilage and Defective work can be easily identified with specific jobs or products
iii. In a job costing system, costs are accumulated on a monthly basis

iv. In a job costing system, costs are accumulated with respect to specific jobs

(A) Only (i) @onyy i)

(O) (i) and (iii) both (D) (ii) and (iv) both

With respect to Contract Costing, which of the following statement/s is/are incorrect?
i. The person who undertakes the contract for a price is called ‘Contractee’

ii. The profit earned on a incomplete contract is primarily called Notional Profit

iii. Sub-contract cost is recorded on the debit side of contract account in the books of
main contractor

iv. Retention money is a kind of safeguard available to the contractee in case the contractor
is unable to fulfill one or more of the conditions laid down in the contract.

@ony i) (B) Only (ii)
(O) (i) and (iii) both (D) (iii) and (iv) both
With respect to Operating Costing, which of the following statement/s is/are incorrect?

i. The primary objective of operating costing is to compute the cost of services offered
by the organization

ii. While finding the total cost, variable expenses are recorded under the heading of
Standing Charges.

iii. Cost of fuel and lubricant oil are regarded as running costs

iv. Expenses of semi-variable nature are regarded as maintenance charges
(A) Only (i) @onyy i

(O) (i) and (iii) both (D) (ii) and (iv) both
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184.  With respect to Process Costing, which of the following statement/s is/are incorrect?
i. Soap making industries apply Process Costing Method of accounting

ii. Abnormal losses in process costing is first valued at Cost per unit of respective process
and after deducting the realized value of scrap, the balance is charged to costing
profit and loss account

iii. When actual loss in a process is smaller than that was expected, am abnormal gain
results

iv. Any loss caused by unexpected conditions such as plants break-down, carelessness
etc. is regarded as normal loss.

(A) Only (iii) @onyy v
(O) (i) and (iii) both (D) (ii) and (iv) both
185.  With respect to Marginal Costing, which of the following statement/s is/are incorrect?
i. At Breakeven sales, total fixed cost is equal to total profit
ii. Sales less Contribution is variable cost
iii. Fixed cost plus profit is contribution
iv. Breakeven sales plus Margin of safety sales is equal to Total Sales
@ony i) (B) Only (ii)
(O) (i) and (iii) both (D) (ii) and (iv) both
186.  There are various reasons that Break even analysis is put to use. Which of the following
is not regarded as use and application of break-even analysis

(A) Determination of comparative profitability of each product line, project or profit
plan

(B) Suggestion for shift in sales mix
(C) Determination of optimum sales volume

.Break-even analysis doesn’t ( fails to) emphasizes the importance of capacity
utilization for achieving economy

187.  With respect to cost control and cost reduction, which of the following statement is
incorrect?

(A) Cost control aims at maintaining the costs in accordance with established standards

(B) Cost reduction is concerned with reducing costs. It challenges all standards and
endeavors to better them continuously

.Cost control is not a preventive function but a corrective function
(D) In cost reduction emphasis is on present and future
188.  Which of the following statement is incorrect?

.Break-even analysis doesn’t emphasizes the importance of capacity utilization for
achieving economy

(B) Break-even analysis is used for determination of optimum sales volume

(C) Break-even analysis is used for evaluating the effect of reduction or increase in price,
or price differentiation in different markets

(D) Break-even analysis is used for determination of comparative profitability of each
product line, project or profit plan
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189.  Which of the following item/s which are regarded as cause/s which, generally give rise to
difference in the Cost and Financial Accounts?

i. Interest on bank mortgages
ii. Discount on issue of shares
iii. Goodwill written off

iv. Preliminary expenses written off

(A) Only (i) and (ii) (B) Only (ii) and (iii)
(C) Only (i), (ii) and (iii) @1 G, Gi), Gii) and (iv)

190. From the following information, what will be the profit as per Marginal Costing
technique?

Profit as per absorption costing is I 40,000.
Closing stock value as per absorption costing is ¥ 60,000.
Closing stock value as per marginal costing is ¥ 48,000.
@: 25.000 (B) % 40,000
(©)X 52,000 (D)X 60,000
191.  With respect to Learning Curve, which of the following statement/s is/are correct?

i. Learning curve is essentially a measure of the experience gained in production of an
article by an individual or organization

ii. Learning curve is a geometrical operation, as the identical operation is increasingly
repeated

iii. Under the Learning curve model, the cumulative average time per unit produced is
assumed to fall by a constant percentage every time total output of the unit doubles

(A) Only (i) (B) Only (i) and (iii)
(C) Only (i), and (iii) @1 G), (i) and (i)

192.  With respect to cost of quality, which of the following are regarded as Prevention and
Appraisal costs?

i. Quality planning costs
ii. Costs of product and process design

iii. Costs of quality inspections

(A) Only (i) (B) Only (ii) and (iii)
(C) Only (i), and (iii) .All (i), (ii) and (iii)
193. are incurred when inferior products are delivered to customers
(A) Prevention costs (B) Appraisal costs
(C) Internal failure costs .External failure Costs
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194.

195.

196.

197.

198.

199.

The essential requirements for successful implementation are described as the six C’s of
Total Quality Management.

Which of the following statement represent the six C’s?

.Commitment, Culture, Continuous improvement, Co-operation, Customer focus &
Control

(B) Commitment, Cost, Continuous improvement, Co-operation, Customer focus &
Control

(C) Commitment, Culture, Continuous improvement, Co-operation, Collaboration &
Control

(D) Commitment, Culture, Conservatism, Co-operation, Customer focus & Control

To avoid Total Quality Paralysis, the principles (called the four P’s) of Total Quality
Management should be followed.

Which of the following statement represent the four P’s?
.People, Process, Problem & Preparation

(B) People, Profit, Problem & Preparation

(C) People, Process, Prudence & Preparation

(D) People, Prudence, Problem & Profit

Six Sigma is a set of practices originally developed by to systematically improve
processes by eliminating defects

.Motorola (B) Samsung

(C) Nokia (D) Kodak

Kanban is a approach to ensuring a continuous supply of inventory or product.
Kanbans were designed to support the Just in time (JIT) philosophy.

.J apanese (B) Chinese

(C) Indian (D) Korean

Desktop Co. manufactures and sells 10,000 units of a product. The full Cost per unit is ¥
100. The Company has fixed its price so as to earn a 20% return on an Investment of ¥
10,00,000. Calculate the Target Selling Price per unit from the above to achieve a target
return of 20% on investment.

(A)X20 (B) T 100
@: 120 (D) T 200

refers to the ongoing continuous improvement program that focuses on the
reduction of waste in the production process, thereby further lowering costs below the
initial targets specified during the design phase.

(A) Six Sigma (B) Total Quality Management
.Kaizen Costing (D) Life Cycle Costing
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200.

201.

202.

203.

204.

205.

With respect to Kaizen Costing, which of the following statement/s is/are correct?
i. Kaizen Costing is used for cost reduction
ii. Kaizen Costing assumes continuous improvement

iii. Under Kaizen Costing, Employees are viewed as the source of, and are empowered to
find, the solutions

(A) Only (i) (B) Only (ii) and (iii)
(C) Only (i), and (iii) @1 G), (i) and (i)

can be defined as a process of systematic review that is applied to existing product
designs in order to compare the function of the product required by a customer to meet
their requirements at the lowest cost consistent with the specified performance and
reliability needed

.Value Analysis (B) Six Sigma
(C) Kaizen Costing (D) Target Costing

With respect to the Introduction stage of Product Life Cycle, which of the following
statement/s is/are incorrect?

i. Prices of product is at high levels to cover initial costs and promotional expenses.

ii. Ratio of promotion expenses to sales is Highest, due to effort needed to inform potential
customers, launch products, distribute to customers etc.

iii. Profits are Nil, due to heavy initial costs
@ony i) (B) Only (ii) and (iii)
(C) Only (i), and (iii) (D) All (i), (ii) and (iii)

Following are strategic objectives of a company. As per the concept of Balanced Scorecard,
which of the following objectives will be considered under Financial Perspective?

.Improve Return on Investment (B) Improve Brand Recognition
(C) Improve Product Quality (D) Expansion of Eco-friendly product line

Which of the following regraded as Learning and Growth Perspective under the concept
of Balanced Scorecard?

(A) How do we look to shareholders? (B) How do customer view us?
(C) At what must we excel? .How do we continue and create value?

Which of the following are regarded as components in the calculation of return on equity
using the traditional DuPont Model?

i. Net profit margin ii. Asset turnover iii. Equity multiplier
(A) Only (i) (B) Only (ii) and (iii)
(C) Only (i), and (iii) @1 G), (i) and (i)
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207.

208.

209.

210.

211.

With respect to budget and budgetary control, which of the following statement/s is/are
incorrect?

i. Budgeting process creates a sense of rigidity in the minds of people who are working
in the organisation

ii. Budgets fail if estimates are not accurate

iii. The installation and implementation of the budgeting process involves too less time
and is very cost effective

iv. Budgeting is not a substitute for management; it is only a tool for management.

(A) Only (i) @onyy i)

(O) (i) and (iii) both (D) (ii) and (iv) both

Which of the following factor is not considered for preparing sales budget

(A) The locality of the market i.e., domestic or export

(B) The target customers i.e., industry or trade or a section or group of general public etc.
(C) The market share of competitor’s products and their effect on the company’s sales
.Different sources available for obtaining short term working capital

A comparison between the cost of goods sold of two or more firms in the same industry
is made easier with the help of:

(A) Comparative Statement of Profit and Loss
(B) Comparative Balance Sheet
.Common-size Income Statement

(D) Common-size Balance Sheet

The ratios used to measure the effectiveness of the use of capital or assets in a business
are known as:

(A) Profitability ratios .Turnover ratios
(C) Solvency ratios (D) Liquidity ratios

XYZ Ltd had closing stock of ¥ 2,00,000 . If its stock turnover ratio (Cost of sales/closing
stock) is 5 times and the Gross Profit Ratio is 20%, sales for the year will be:

(A) X 15,00,000 @ 12,50,000
(€)% 10,00,000 (D)% 12,00,000
With respect to cash flow statements, which of the following statements is incorrect?

(A) Cash flow statement exhibits the flow of incoming and outgoing cash and cash
equivalent

(B) Cash flow statement is one of the tools for assessing the liquidly of the organisation

(C) Cash flow statement reports the management Net cash flow from each activity of the
organization

.Cash flow statement explains cash movements under four different heads, namely
Operating activity, Investing activity, Financial activity and Balance sheet.
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213.

214.

215.

216.

217.

218.

Which of the following is considered as Cash flow relating to Investment activity

(A) Cash proceeds from issue of shares .Cash proceeds from sale of fixed assets
(C) Income tax paid (D) Dividend paid on equity shares

With respect to Budgets and Budgetary Control, which of the following statement is
incorrect?

(A) Sales budget is a functional budget

(B) Flexible budget requires a careful study of fixed, semi-fixed and variable expenses
(C) Capital budget is a long term budget

.Cash budget is a long term budget

is a statement of an estimated performance to be achieved in given time, expressed
in currency value or quantity or both

.Budget (B) Budget Centre

(C) Budgetary Control (D) Budget Manual

Which of the following will be regarded a Source of Fund in Fund Flow Analysis?
(A) Funds lost through business operations.

(B) Purchase of fixed assets or long term investments.

.Decrease in working capital.

(D) Redemption of debentures.

From the following details provided, find out the amount of tax paid to be shown as
application of fund?

Balance of Provision for tax as on 1-4-2020 ¥ 40,000.

Balance of Provision for tax as on 31-3-2021 % 50,000.

Provision for tax made during the year 2020-21 ¥ 45,000.

@: 35.000 (B) % 45,000

(C)X 55,000 (D)X 60,000

With respect to Management Accounting, which of the following statement/s is/are
correct?

i. The information in the management accounting system is used for Measurement

ii. The information in the management accounting system is used for Control

iii. The information in the management accounting system is used for Decision Making
(A) Only (i) (B) Only (ii) and (iii)

(C) Only (i), and (iii) .All (i), (ii) and (iii)

With respect to Management Accounting, which of the following statement/s is/are
correct?

i. Management Accounting is largely based on estimates.

ii. Management Accounting derives information from Financial Accounting, Cost
Accounting and other records.

iii. The installation of Management Accounting is a costly affair so all the organizations,
in particular, small firms cannot afford

(A) Only (i) (B) Only (ii) and (iii)
(C) Only (i), and (iii) @1 G), (i) and (i)
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220.

221.

222,

223.

With respect to the relation between Cost Accounting and Management Accounting,
which of the following statement/s is/are correct?

i. Cost Accounting records the quantitative aspect only, Management Accounting records
both qualitative and quantitative aspect.

ii. Cost Accounting records the cost of producing a product and providing a service,
Management Accounting provides information to management for planning and
coordination.

iii. Cost Accounting as well as Management Accounting follows certain principles,
procedures, specific rules and regulations for recording costs of different products.

(A) Only (i) (B) Only (ii) and (iii)
@ oniy (i), and i) (D) All (i), (ii) and (iii)

Zero-based budgeting is better than traditional budgeting due to which of the following
reason/s

i. It gives an opportunity for the management to allocate resources to various activities
after a detailed cost benefit analysis.

ii. It helps the management to identify wasteful expenditure and eliminate them.

iii. It also facilitates the management in linking the functional budgets with corporate
objectives.

iv. It facilitates introduction of a system of Management by Objectives (MBO).
(A) Only (i) (B) Only (ii) and (iii)
(C) Only (i), and (ii) @1 G, Gi), Gii) and (iv)

means that the responsibility of various levels of management is predetermined
in terms of output or result keeping in view the authority vested with them.

(A) Flexible Budget (B) Cash Budget

(C) Zero Based Budgeting .Performance Budgeting
From the following information, find out the Efficiency Ratio?
Standard Hours 800.

Actual Hours 1,000.

Available working days 30.

@soo (B) 100%

(C) 125% (D) 50%

Which of the following is/are regarded as Principles of responsibility accounting?
i. A target is fixed for each department or responsibility center.

ii. Actual performance is compared with the target.

iii. The variances from plan are analysed so as to fix the responsibility.

iv. Corrective action is taken by higher management and is communicated
(A) Only (i) (B) Only (ii) and (iii)

(C) Only (i), and (ii) .All (i), (ii), (iii) and (iv)
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224.

225.

226.

227.

The existing cost structure of one prepared unit of Transferor Ltd. at the existing capacity
is as follows.

Material: ¥ 2.00 (variable 100%)

Labour: ¥ 2.00 (variable 50%)

Overheads: ¥ 4.00 (variable 25%)

The company wishes to keep the transfer price at Variable Cost + 25%
What will be the transfer price per unit?

(A)Z 4 &:;

©)%8 D)X 10

From the following information calculate the Economic Value Added of XYZ Ltd.
NOPAT (Net Operating Profit After Tax) ¥ 1,000.

WACC (Weighted Average Cost of Debt and Equity Capital) 10%
Capital Employed  8,000.

@: 200 (B) T 800

(©)% 1,000 (D)X 1,800

With respect to XBRL ( eXtensible Business Reporting Language), which of the following
statement/s is/are correct?

i. XBRLis not a set of Accounting Standards

ii. XBRL is not a chart of accounts

iii. XBRL is not a Transaction Protocol

(A) Only (i) (B) Only (ii) and (iii)
(C) Only (i), and (ii) .All (i), (ii) and (iii)

XBRL is used in many different ways, for many different purposes. With respect to
users of XBRL (eXtensible Business Reporting Language), which of the following
statement/s is/are correct?

i. Several not-for-profit organisations, like universities, municipalities etc. opt for
reporting under XBRL format.

ii. Accountants use XBRL in support of clients reporting requirements and are required
to prepare and present financial statements using XBRL.

iii. Analysts that need to understand relative risk and performance
(A) Only (i) (B) Only (ii) and (iii)
(C) Only (i), and (ii) @1 G), (i) and (i)
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228.

229.

230.

231.

232.

233.

Which of the following is/are regarded as salient feature/s of computerised accounting
environment?

i. The processing of financial information by the computer is done with the help of one
or more computer softwares.

ii. The computer software used for the accounting system may be an acquired software
or may be developed specifically for the business.

iii. A computer software includes any program or routine that performs a desired function
or set of functions and the documentation required to describe and maintain that
program or routine.

(A) Only (i) (B) Only (ii) and (iii)

(C) Only (i), and (ii) .All (i), (ii) and (iii)

As per section 135 of the Companies Act 2013, Every Company having either
shall constitute a Corporate Social Responsibility Committee.

(A) net worth of ¥ 100 crores or more, or turnover of ¥ 500 crore or more, or a net profit
of ¥ 1 crore or more.

(B) net worth of ¥ 200 crores or more, or turnover of 3 700 crore or more, or a net profit
of ¥ 2 crore or more

(C) net worth of ¥ 300 crores or more, or turnover of ¥ 800 crore or more, or a net profit
of ¥ 4 crore or more

.net worth of ¥ 500 crores or more, or turnover of ¥ 1,000 crore or more, or a net
profit of ¥ 5 crore or more.

As per section 135 of the Companies Act 2013, a company which is required to constitute

a Corporate Social Responsibility Committee, should have independent director
on the board.

.atleast one (B) atleast two

(C) atleast three (D) atleast four

Section 211 of the Companies Act, 2013, empowers the Central Government to establish
an office called  to investigate frauds relating to companies

.Serious Fraud Investigation Office =~ (B) Fraud and Offence wing

(C) Fraudulent Activity Commission (D) Fraud and Forensic Board

Which of the following is regarded as a External reason for human resource accounting ?
(A) To improve human resource management

(B) To focus on employees as assets

(C) To retain qualified labour force.

.To profile the enterprise and improve its image.

Which of the following models of Human Resource Accounting are regarded as Cost
Based Models ?

i. Capitalisation of historical cost by R Likert

ii. Replacement cost - The Flamholtz Model

iii. Opportunity Cost - The Hekimian and Jones Model

(A) Only (i) (B) Only (ii) and (iii)
.Only (i), and (ii) (D) All (i), (ii) and (iii)
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234.

235.

236.

237.

238.

239.

240.

A foreign currency transaction is a transaction which is in in a foreign
currency

.denominated; or requires settlement

(B) not denominated; or does not require settlement

(C) denominated; and does not requires settlement

(D) denominated; but does not necessarily requires settlement

Management Accounting and Cost Accounting are to each other.
.Supplementary (B) Complementary
(C) Opposite (D) Independent

Which of the following statement is correct

(A) Foreign Currency Convertible Bond (FCCB) comes at a very high rate of interest.
(B) Puttable bonds gives the issuer the right to redeem the bond before maturity.

(C) Yankee bonds are issued in USA by US Banks and US Corporations.

.An Australian company can issue Eurobond in Japan , denominating it in US Dollars.

Which of the following is/are the reason/s indicating “Why money can be more valuable
today than in the future”?

i. Preference for present consumption

ii. Inflation

iii. Risk of uncertainty

(A) Only (i) (B) Only (ii)

(C) Only (i) and (iii) .All (i), (ii) and (iii)

Which of the following are fundamental principle(s) that should be kept in mind while
choosing a suitable finance pattern to design capital structure.

i. Financial leverage of trading on equity

ii. Growth and stability of sales

iii. Business risk and financial risk

iv. Control principle and flexibility principle

(A) Only (i) and (ii) (B) Only (i) and (iii)

(C) Only (i), (ii) and (iv) .All of (i), (ii), (iii) and (iv)

Which of the following is not a factor to be considered while planning for working capital
requirement?

(A) Identify cash balance (B) Identify level of inventory
(C) Operating efficiency .Ranking of the firm as per industry norms

With respect to financing decision and types of financing, which of the following statement
is incorrect

.External source of finance include retained earnings

(B) External source of finance include debentures

(C) Internal source of finance doesn’t include ordinary share
(D) Internal source of finance include trade credit
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241.

242.

243.

244.

245.

ABC Ltd has an annual turnover of ¥ 30 crore and cash expenses to generate this much
of sale are ¥ 25 crore. Suppose applicable tax rate is 30% and depreciation is ¥ 1 crore
p-a., find out the amount of cash flow available at the end of the year.

(A) X 5 crore (B) ¥ 4 crore

@z 3.3 crore (D) % 1.2 crore

R = Raw material storage period

C = Credit period allowed by suppliers ( creditors)

W = Work-in progress holding period

D = Receivables ( debtors) collection period

F = finished goods storage period

In the form of an equation, the Operating Cycle Process can be expressed as

(A) Operating Cycle=C+ R+W +F-D (B) Operating Cycle=D+C+W+F-R
.Operating Cycle=R+W+F+D-C (D) Operating Cycle=R+C+D+W-F
With respect to Net Present Value (NPV), which of the following statement is incorrect?

(A) NPV technique is a discounted cash flow method that considers the time value of
money in evaluating capital investments

(B) NPV technique uses a specified discount rate to bring all subsequent cash inflows
after the initial investment to the their present values (the time of the initial investment
is year 0)

(C) When some additional investment may also be required during the life time of the
project then appropriate formula for finding NPV shall be : NPV = Present value of
cash inflow — Present value of cash outflow

.The NPV technique can be used to select between mutually exclusive projects, the
one with lower NPV should be selected.

With respect to Internal Rate of Return ( IRR) , which of the following statement is
incorrect?

(A) Unlike NPV technique, the IRR method does not use the desired rate of return but
estimates the discount rate that makes the present value of subsequent net cash flows
equal to the initial investment

(B) IRR is compared to a criterion rate of return that can be the organisation’s desired
rate of return for evaluating capital investments

(C) If the IRR is equal to cut off rate, the firm is indifferent of capital investment decision
proposal

.The project should be accepted if IRR is less than cut-off rate

ABC LTD. Issues 1,000 9.5% preference shares of ¥ 100 each at I 95 each. Calculate the
cost of preference shares?

@5 (B) 10%
(C) 12% (D) 15%
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246.

247.

248.

249.

250.

251.

252.

From the following information, calculate the Operating Leverage
Selling price per unit ¥ 80.

Variable cost per unit ¥ 40.

Number of units sold 1,000.

Total fixed cost ¥ 30,000.

(A)2 B)3

@- (D)5

XYZ Ltd is considering an investment in Project A. Project A costs is T 15,000. You are
given below the net present value probability distribution of the project

NPV Estimates (3) Probability

10,000 0.2

8,000 0.3

6,000 0.3

5,000 0.2
Compute the expected net present value of Project A.
@: 7.200 (B) % 7,800
(©)% 10,000 (D)X 15,000

ABC Ltd. Is a no growth company, pays a dividend of ¥ 5 per share. If the cost of capital
is 10%. Compute the current market price of the share?

A)X10 B)I 20

@: 5o (D) T 200

An individual is said to be when he or she attempts to found and build a company
from personal finances or from the operating revenues of the new company.

.Boot strapping (B) Angel Investor

(C) Venture capital fund (D) Business angels

Which of the following can be regarded as an emerging trend in finance and accounting?
.Cloud-based Accounting (B) Financial Accounting

(C) Cost Accounting (D) Human Resource Accounting

In 1494, a French celebrated mathematician, brought the concept of Double
Entry Book Keeping and Auditing in Practice.

(A) William Shakespeare .Luca Pacioli

(C) James Wilson (D) Robert Pitt

With respect to disqualification to act as an Auditor from being appointed, which of the

following statement is incorrect

(A) If a person is an officer of the company, he cannot be appointed as the auditor of the
same company

.If a person is a partner or an employee of the company, he can be appointed as an
auditor of the same company.

(C) If a person who is indebted to the company not in excess of Rupees five lakhs, he can
be appoint as an auditor of the same company.

(D) If a person has direct business relationship with the company, he cannot be appointed
as an auditor of the same company.
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253.

254.

255.

256.

Which of the following is not an essential features of Auditing?

(A) It involves evaluation of the relevance, reliability and adequacy of evidence in support
of verifiable information

(B) It is analytical, critical and investigative
(C) The auditor should be competent and independent

.The information audited should always be non-financial / qualitative in nature and
will not be of financial in nature.

With respect to Auditing, which of the following statement is incorrect?
i. Auditing and Accounting are related. Accounting begins where Auditing ends.

ii. Auditing is an analytical and critical examination of books of accounts, financial
records and the financial statements prepared thereon.

iii. Auditing reviews financial records to form an opinion on the authenticity of Financial
Statements

iv. Auditing is done as per the principal set in standards an auditing

.Only (i) (B) Only (i) and (iii)

(C) Only (i), (ii) and (iv) (D) All of (i), (ii), (iii) and (iv)

With respect to Audit Report, which of the following statement/s is/are incorrect ?

(i) Audit Report is made out on the basis of information obtained & books of account
verified by the auditor

(ii) Audit Report does not contain any opinion but only confirms the accuracy of the
figures with the books of accounts

(iii) Audit Report may not guarantee correctness of financial statement in absolute terms

(iv) Audit report is addressed to the members of the company at large or appointing
authority

(A) Only (i) @onyy i
(C) Only (i), (iii) and (v) (D) Alli.e. (i), (ii), (iii) and (iv)
Which of the following is an incorrect statement in relation to Audit Programme?

i. Audit programme serves as a guide in arranging and distributing the audit work as
well as checking against the possibility of the omissions

ii. An audit programme is not regarded as a detailed plan of the auditing work to be
performed

iii. An audit programme serves as a ready check list of audit procedures to be performed

iv. An audit programme is useful in selection of Team members and delegation of
responsibilities to them.

.Only (ii) (B) Only (i) and (iii)
(C) Only (i), (ii) and (iv) (D) All of (i), (ii), (iii) and (iv)
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257.

258.

259.

260.

261.

262.

263.

Type of Audit can be classified under four categories (a) Based on Organizational structure
(b) Based on Objective (c) Based on Timing and (d) Based on Scope. Which of the following
is an incorrect classification?

(A) Continuous Audit is classified as based on timing

(B) Cost audit is classified as based on objective

(C) Government audit is classified as based on organizational structure
.Environment Audit is classified as based on timing

Which of the following is not regarded as objectives and functions of the Auditing and
Assurance Standards Board (AASB)

(A) To review the existing and emerging auditing practices worldwide

(B) To review the existing standards and statements on auditing to assess their relevance
in the changed conditions and to undertake their revision if necessary

.To review the existing financial statements of blue chip companies having turnover
of exceeding 1,000 crores for determining capital gearing ratio

(D) To formulate general clarification, where necessary, on issues arising from standards

According to Companies Act 2013, the first auditor of a company, other than a government

company, shall be appointed by the Boards of Directors within from the date of
registration of the company

(A) 3 days (B) One week

(C) 15 days @30 days

As per on Basic Principles Governing an Audit issued by Institute of Chartered

Accountants of India, an auditor must possess the integrity and be objective and
independent in his approach to the audit work.

@sa-200 (B) SA-210
(C) SA-220 (D) SA-230
An is a detailed plan of the auditing work to be performed, specifying the

procedures to be followed in verification of each item and the financial statements and
the estimated time required

(A) Audit engagement .Audit programme
(C) Audit working paper (D) Audit note book

implies systematic, critical and special examination of the records of a business
for a specific purpose

(A) Auditing (B) Internal Control
.Investigation (D) Accounting

of the Constitution provides that the accounts of the Union and of the States
shall be kept in such form as the President may on the advice of the C& AG (Comptroller
and Auditor General) prescribed.

@A rticle 150 (B) Article 152
(C) Article 154 (D) Article 156
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264. deals with “The Auditor’s Responsibilities Relating to Fraud in an Audit of
Financial Statements”

(A) SA 210 (B) SA 220
(C) SA 230 @sA 240

265. The Securities and exchange Board if India on 2nd September 2015, issued LODR
Regulations. What does LODR stands for?

.Listing Obligations and Disclosure Requirements
(B) Legal Options and Dissolution Regulations
(C) Listing Obligations and Demat Regulations
(D) Legal Option and Demat Regulations
266.  Which of the following statement is INCORRECT?

i. Auditor of a company shall have a right of access at all times to the books of account
of the company

ii. Auditor of a company does not have a right of access at all times to the vouchers of the
company

iii. Auditor of a company which is a holding company shall also have the right of access
to the records of all its subsidiaries in so far as it relates to the consolidation of its
financial statements

iv. The auditor shall make a report to the members of the company on the accounts
examined by him and on every financial statements which are required by or under
Companies Act to be laid before the company in general meeting

@onyy Gi) (B) Only (i) and (iii)
(C) Only (i), (ii) and (iv) (D) All of (i), (ii), (iii) and (iv)
267.  Which of the following statement/s is/are incorrect?

i. In comparing management fraud with employee fraud, the auditor’s risk of failing to
discover the fraud is less for management fraud

ii. Excessive interest by management in maintaining or increasing the entity’s inventory
price or earnings trend is an example of Fraud Risk Factor related to opportunities

iii. Misstatements in the financial statements can arise from fraud only

iv. Misappropriation of Assets involves the theft of an entity’s assets and is often
perpetrated by employees in relatively large and material amounts.

(A) Only (ii) (B) Only (i) and (iii)
(C) Only (i), (ii) and (iv) @1 of (i), Gi), i) and (iv)
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268.

269.

270.

271.

Which of the following statement/s is/are incorrect?

i. Material and wages are considered to be revenue expenditure when incurred for
construction of building

ii. Tangible assets are depreciated when the asset is actually put to active use

iii. Increase in authorised capital of the company requires special resolution to be passed
at the general meeting

iv. Capital redemption reserve can be used for distribution of dividends
(A) Only (ii) (B) Only (i) and (iii)

(C) Only (i), (ii) and (iv) .All of (i), (ii), (iii) and (iv)
Which of the following statement/s is/are incorrect?

i. The accounts of every LLP ( Limited Liability Partnership) shall be audited in
accordance with rule 24 of LLP Rules 2009.

ii. The auditor of an LLP may be appointed by the Designated Partners or other Partners
whosoever is available at the time of appointment

iii. The Comptroller and Auditor General does not have any authority to audit the accounts
of stores and inventory kept in any office or department of the Union or State

iv. An auditor should ensure that proper valuation of occupancy-in-progress at the balance
sheet date is made and included in the accounts in the case of audit of Hotel

(A) Only (ii) (B) Only (i) and (iii)
@ oniy (i), (i) and (i) (D) All of (i), (ii), (iii) and (iv)
Which of the following statement/s is/are correct?

i. Forensic investigation, also known as forensic audit, is the examination of documents
and the interviewing of people to extract evidence.

ii. In a fraud audit, one searches for the point where the numbers and/or financial
statements to do mesh.

ili. Red flags are indicators or warning of any impending danger or inappropriate
behaviour.

(A) Only (ii) (B) Only (i) and (ii)

(C) Only (i), and (iii) .All of (i), (ii) and (iii)

With respect to Direct Taxes, which of the following statement/s is/are incorrect?

i. Tax, of which incidence and impact fall on the same person, is known as Direct Tax

ii. In the case of Direct Tax, tax is recovered directly from the assessee, who ultimately
bears such taxes

iii. Direct taxes are regressive in nature

iv. Income tax and Wealth tax are examples of Direct taxes

(A) Only (ii) @onyy i)

(C) Only (i), and (iii) (D) Only (i), (ii) and (iii)
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272.

273.

274.

275.

276.

2717.

278.

In which of the following case/s, income of the previous year is assessed in the same year
and not in the next year?

i. Income of a non-resident assessee from shipping business

ii. Income of a person who is leaving India either permanently or for a long period
iii. Income of bodies, formed for a short duration

iv. Income of a person who is likely to transfer property to avoid tax

(A) Only (iii) (B) Only (i) and (ii)

(C) Only (i), and (iii) .All of (i), (ii), (iii) and (iv)

As per the definition of ‘Person’ for the purpose of Income Tax Act, 1961, Any State
University will be classified as

.Artiﬁcial juridical person (B) Company
(C) Local authority (D) Firm

If the tax liability calculated on the total income of an assessee earned during the Previous
Year 2020-21 amount to ¥ 13,058.24, what will be the actual amount of tax liability as
rounded off to be paid by the assessee?

(A)X 13,050 (B)¥ 13,055

@: 13.060 (D) T 13,100

Mr A has earned total income of I 11,00,000 during the Previous Year 2020-21. For
reducing the tax liability, he paid Mediclaim insurance premium of ¥ 8,000 on his policy

and ¥ 7,000 on his wife’s policy. Amount paid for Mediclaim insurance premium paid
for reducing the tax liability will be regarded as ?

i. Tax Planning ii. Tax Avoidance iii. Tax Evasion
@ony i) (B) Only (ii)
(C) Only (i), and (iii) (D) All (i), (ii) and (iii)

Reduction is the tax liability by deliberately suppressing income or sale or by increasing
expenses, etc., which results in reduction of total income of the assessee will be regarded
as ?

i. Tax Planning ii. Tax Avoidance iii. Tax Evasion
(A) Only (i) (B) Only (ii)
@ oy ii) (D) All (i), (ii) and (iii)

Mr. A is a resident individual and has earned a total income of ¥ 4,00,000 during the
Previous Year 2020-21. What will the tax liability for the Assessment Year 2021-22 after
calculating Rebate U/S 87A?

@i (B)Z 7,500
(C) % 7,800 (D) % 15,000

A Limited Liability Partnership (LLP) has earned a Total Income of ¥ 10,00,000 during
the Previous Year 2020-21. What will the tax liability for the Assessment Year 2021-22?

(A) % 1,12,500 (B) % 1,17,000
(C) ¥ 2,50,000 @) 3.12,000
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279.

280.

281.

282.

283.

284.

Mr. Peter a British National came to India first time during the P.Y. 2020-21. During the
previous year, he stayed in India for 153 days. What will be the residential status of Mr.
Peter for the A.Y. 2021-22?

(A) Resident and ordinarily resident

(B) Resident but not ordinarily resident

.Non-resident

(D) Cannot be determined due to lack of adequate information
Canons of Taxation are related to the following except:

(A) Rate (B) Amount

(C) Method of levy & Collection of tax .Certainty

Mr A. has made the following investment during the previous year 2020-21 from his
income.

* Deposit in Public Provident Fund ¥ 20,000.

* Tuition fees of ¥ 9,000 per child for three children paid to a college affiliated to State
University

* Investment of ¥ 50,000 as term deposit for a period of 4 years with a scheduled bank.

What will be the amount of deduction available U/S 80 C for the Assessment
Year 2021-22?

(A)X 27,000 .? 38,000

(©)X 47,000 (D)X 97,000

Mr A has provided the following details for the previous year 2020-21.
Income from house property (M) 30,000

Loss from house property (N) (10,000)

Short term capital gain (transaction P) 30,000
Long term capital loss (transaction Q) (30,000)

Income from horse races 10,000

Loss in card games (5,000)

What is the gross total income of Mr. A for the A.Y. 2021-22.
(A) 25,000 (B) 30,000

(C) 55,000 @)co.000

With respect to Assessment procedure, what does ‘NFAC’ stands for?
.National Faceless Assessment Centre (B) Neutral Facility of Assessment Centre

(C) National Facility of Assessment Centre (D) Non-Factual Arbitration Centre
Based on the recommendations of the , the Central Government constituted the
Settlement Commission.

.Wanchoo Committee (B) Raja Chelliah Committee

(C) Rekhi Committee (D) Kelkar Committee
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286.

287.

288.

289.

Mr. ‘X’ engaged in the business of growing and manufacturing tea in India received Rs.
21 lakhs from Tea Board towards replacement tea bushes destroyed by Forest fire. The
amount received from Tea board by Mr. ‘X’ is....

.Exempt from Tax (B) Liable to Tax
(C) 50%, is exempt from tax (D) 25%, is exempt from tax

With respect to Goods and Services Tax ( GST), which of the following statement/s is/are
correct?

i. GST is a destination based consumption tax

ii. GST offers comprehensive and continuous chain of tax credit

iii. GST eliminate cascading effect of tax

iv. GST brings uniform tax structure all over India

(A) Only (i) (B) Only (ii) and (iii)

(C) Only (iii) and (iv) .All (i), (ii), (iii) and (iv)

Law same as similar to State GST can be formulated for Union Territory without

Legislature, by the Parliament. Which of the following is/are Union Territories without
Legislature?

i. Lakshadweep ii. Andaman and Nicobar Islands iii. Chandigarh iv.
Puducherry

(A) Only (i) (B) Only (ii) and (iii)

@ oniy (i), (i) and (i) (D) All (i), (i), (iii) and (iv)

With respect to function of the GST Council, which of the following statement/s is/are
correct?

i. GST Council is to make recommendations to the Central Government and the State
Governments on tax rates

ii. GST Council is to make recommendations to the Central Government and the State
Governments on exemptions

iii. GST Council is to make recommendations to the Central Government and the State
Governments on threshold limits

iv. GST Council is to make recommendations to the Central Government and the State
Governments on dispute resolution

(A) Only (i) (B) Only (ii) and (iii)

(C) Only (i), (ii) and (iii) .All (i), (ii), (iii) and (iv)

Which of following will be considered as supply of goods leviable to GST

i. Mr. X sold laptop worth ¥ 60,000 and issued invoice in favour of Mr. Y

ii. Mr. A, a thief has stolen motorbike and sells the motorbike to Mr. B for ¥ 75,000.
iii. Mr. M sold Narcotic drugs and psychotropic substances, to Mr. N for ¥ 3 Lakhs.
iv. Goods sent for a demonstration on returnable basis

(A) Only (i) .Only (i) and (ii)

(C) Only (i), (ii) and (iii) (D) All (i), (ii), (iii) and (iv)
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290. M of Mumbai supplies goods to C of Chennai. M has to send the goods for delivery from
Mumbai to Chennai. M sends the goods to C on 30th Oct 2017. Turnover of M in the
Previous Year was ¥ 2 crore.

What will be the time of supply for the following different scenarios?
Removal  Date of Issue Last Date for Date on Date on Time of
of Goods of Invoice Issue of which which Supply
Tax Invoice payment is payment is
entered in credited in
the books the bank
account account
30th Oct 30th Oct 30th Oct 31st Oct 1st Nov X
30th Oct 2nd Nov 30th Oct 31st Oct 1st Nov Y
.X =30th Oct & Y =30th Oct (B) X =31st Oct & Y =30th Oct
(C) X=30th Oct & Y =31st Oct (D) X =30th Oct & Y =2nd Nov

291. Mr. Mukesh of Chennai supplied goods to M/s Rohit Jet Airlines of Chennai flying
between Delhi-Ahmedabad- Mumbai. The goods are loaded in the aircraftin Delhi. Find
the place of supply of goods and levy of tax.

@i (B) Ahmedabad
(C) Mumbai (D) Chennai

292. Mr. Rohit sold goods to Mr. Virat for X 2,50,000. As per the contract of sale, Mr. Rohit is
required to deliver the goods in the premises of Mr. Virat. Mr. Rohit hires transporter
for transportation for delivery of goods. However, the freight paid by Mr. Virat to
transporter. Freight paid
% 2,500. Find the transaction value of supply of goods.

(A)X 2,47,500 (B) % 2,50,000
.? 2,52,500 (D)X 2,55,000
293. M/s A Ltd. a registered person under GST law, purchased 10 cars for ¥ 40 lakhs plus
28% GST. M/s A Ltd sold 8 cars for ¥ 50 lakhs plus 28% GST.
Find the Net GST liability if M/s A Ltd is a dealer of motor vehicles?
(A) X 14,00,000 (B) % 11,20,000
.? 2,80,000 (D) X 25,20,000
294.  With respect to Composite supply and Mixed supply, which of the following statement/

s is/are correct?

i. Booking of Air Tickets which involves cost of the meal to be provided during travel
will be Composite supply

ii. Where goods are packed and transported with insurance. The supply of goods, packing
materials, transport and insurance is a composite supply

iii. Diwali gift hamper which consist of different Items like sweets, chocolates, cakes, dry
fruits packed in one pack is Mixed supply

(A) Only (i) (B) Only (i) and (ii)
(C) Only (i) and (iii) @1 G), (i) and (i)
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295.

296.

297.

298.

299.

Which of the following item/s are exempted from GST?

i. Unbranded atta ii. Eggs iii. Unpacked food grains iv. Fresh vegetable
(A) Only (ii) (B) Only (i) and (ii)

(C) Only (i), (iii) and (iv) .All (i), (ii), (iii) and (iv)

Lean system is an organised method for waste minimisation without sacrificing
productivity within a manufacturing system. There are generally seven types of wastes.
Which of the following are the seven wastes?

(A) Underproduction, Inventory, Waiting, Motion, Trading, Rework from defects and
Over-Processing.

(B) Overproduction, Idle, Waiting, Merger, Transportation, Rework from defects and
Under-Processing

.Overproduction, Inventory, Waiting, Motion, Transportation, Rework from defects
and Over-Processing.

(D) Overproduction, Insurance, Waiting, Motion, Transportation, Review from defects
and Over-Processing

5S is the name of a workplace organisation method that uses a list of five Japanese
words. Which of the following are the 5S?

i. Seiri  ii. Seiton  iii. Seiso  iv. Seiketsu  v. Shitsuke vi.Saigo vii. Samurai
@ . G, (iii), (iv) and (v) (B) (i), (i), (iii), (iv) and (vi)
(O) (i), (i), (iii), (iv) and (vii) (D) (i), (ii), (iv), (v) and (vi)

There are 4 key components of Business Process Reengineering. Which of the following
are the 4 key components?

i. Fundamental Rethinking ii. Radical Redesign iii. Dramatic Improvements
iv. End to End Business Processes v. Value Analysis vi. Cost of Quality

.(i), (ii), (iii) and (iv) (B) (i), (ii), (iii) and (vi)

(O) (i), (ii), (iii) and (v) (D) (i), (ii), (iv) and (vi)

Which of the following are the Six C’s for successful implementation of Total Quality
Management?

i. Collaboration ii. Conservation iii. Commitment iv. Culture
v. Continuous improvement vi. Co-operation vii. Customer focus viii. Control
(A) (i), (ii), (iii), (iv), (v) and (vi) (B) (i), (ii), (iv), (v), (vi) and (vii)

(O) (ii), (iv), (v), (vi), (vii) and (viii) .(iii), (iv), (v), (vi), (vii) and (viii)
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300.  With respect to Throughput Accounting, which of the following statement/s is/are correct?

i. The concept of Throughput Accounting was created by David Galloway and David
Waldron from the theory of constraints

Throughput per Bottleneck Minute
Factory Cost per Bottleneck Minute

ii. Throughput Accounting Ratio =

iii. If the Throughput Accounting Ratio is greater than 1, the product in question is

“profitable”
(A) Only (i) (B) Only (i) and (ii)
(C) Only (i) and (iii) .All (i), (ii) and (iii)
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